Matematika – pracovní list č. 6

1) Doplň tabulku:
	C
	C + 4
	C + 9
	C + 6
	C + 8 
	C + 0
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2) Vypočítej:
29	+	  3 = 	____				___	  +	 8   = 	 45
___	+	79 = 	 88				___	  +	19  =	 21
38	+     ___ =    46				48	  +   ___  =   52
___	+	7   =    75				19	  +   ___  =   21
   3	+    ___  =    31				___	  +     78   =  87
   6     +    88    =  ___				   3	  +    ___  =  41
___	+      5     =  54				 69	  +	5     = ___
   4	+   ___   =   21				 28	   +   ___  =   32




3) Přečti zašifrovaný zápis:

	75
	33
	
	4
	
	4
	

	
	
	
	
	
	
	



15	+	8	=	S			smutný smajlík	=	A
bomba	=	R				veselý smajlík	=	V
7	+	E	=	11			67	+	8	=	Č
29	+	4	=	T			nůžky	=	C
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